¢ The denominators have no common factor.

ADDING AND SUBTRACTING RATIONAL EXPRESSIONS

A() | Clx) _ A(x) D(x) + B(x) C(x)

Ble] = Dby — B(x) D(x)
2 3 2x+3)+3(x—1) 2x 3x _ 2x(x—1)—3x(x +1)
- + = o o =

L e (x—1)(x +3) R Gt x—1)

. 2x+6+43x-3 - 2x? —2x —3x2 —3x
Here, th duct of = 1.
thzreczien;r?irr?atggs i(; the (== M- 3) (x +1)(x 1
common denominator. )— Xi+3 = x2 —5x
(x=D(x+3) (x+D(x-1)

* The denominators have a common factor.

By 4 2 _ 4 2
R0 43 33 eI
4(x+3) 2(x —3)

(e + 3P — 3) is
the lowest common
denominator.

_ 4x+3)=2(x-3)
(x+3)%(x—3)
2x+18

(x+3)*(x—-3)

Factor the denominators.

- B Find the common denominator using the
(x+3)2(x~3) (x+3)%(x—23) least number of factors.

Reduce to a common denominator.

= e B Simplify.

In each of the following operations, the variable does not take values which make the denominators

ZEro.

« Perform the following operations.

2y + 5x
2,5
a) 242 = _ b
% y 2 2
- X
q Y _xty g &
B y
« Perform the following operations.
2 3 5x -1
Y el . Dix - 2
a) Tt et Da-2) . b)
5x2 + x
3x 2x >
-1
i} x—1 x+1 = §j§

7. Perform the following operations and simplify your

1
X 1
I AR 2 6
8 79 =6 s b)
1 1 X
¢) + (x-1)? )

x2-2x+1 x-1

Perform the following additions and subtractions.
ax +7

§} 2X2+] = 3X5*] B 10 %3
3
i} x+1 x+42 o — )
x—2 x-1 . 4
11 2 -x?2+5x-3
&) ST I f)

%24 42
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3x-2
é_i x2
x  x? xZe 602
X+ 6y? - 5xy
2x+3y+2x73y B e
9x 6y
x-10
x+2 x-2
5
x-2_ x-3 x+3)x+2)
x+3 x+2
answer,
— x2-25
x+5 x-5
8a
2a + 4a 3a-15
3a—15  2a-10
8x+9
> 4.3 (x- 2)x + 3)
x—2 x+3 2
12x
X+3_X‘3 X2—9
x—3 x+3
i 1 x? + 3x

(x-1)%(x +1)

x2-2x4+1 x2-1
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